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SEKOLAH KEBANGSAAN TANJUNG PUTERI

PENILAIAN KENDALIAN SEKOLAH RENDAH 1

MATHEMATICS YEAR 4
NAME 

: ___________________________________________________

CLASS 
: __________________________

Section A

Answer all the questions given. Circle the correct answer.

1. 
Write 38 901 in words

A
Thirty-eight thousand nine hundred and one

B
Threety-eight thousand nine hundred one

C
Thirty-eight thousands nine hundreds and ones

D
Thirty-eight thousand nine hundred and ten

2. 
The number 67 096 written in words is

A
six thousand seven hundred and ninety-six.

B
sixty-seven hundred and ninety-six.

C
sixty-seven thousand nine hundred and sixty.

D
sixty-seven thousand and    ninety-six.

3. 
The value of digit 5 in 56 287 is


A
ten thousands


B
thousands


C
hundreds


D
tens

4. 
Round off the number 21 352 to the nearest hundreds

A
21 300


B
21 360


C
21 400


D
21 450
5. 
Find the sum of 4 704 and 36 808.


A
85 848


B
41 512


C
40 512


D
40 502

6. 
4 158 + 163 + 19 =

A
7 688


B
4 511


C
4 410


D
4 340

7.
What is the difference between 79 and 18 743?


A
18 822

B
18 736


C
18 664


D
18 660

8.
45 632 – 1 725 =


A
44 113


B
43 907


C
32 422

D
28 282
9.
Which number sentence gives the largest value?

A
1 000 x 70

B
100 x 50

C
795 ( 80

D
736 ( 90

10.
32 456 ( 8 =

A
4 007

B
4 057

C
4 070

D
4 507

11.
68 715 + 21 413 – 4 215 =


A
89 118


B
85 903

C
85 113


D
85 913

12.
There are 7 740 residents in a town. If every resident collects 5 aluminium cans to recycle, calculate the total number of aluminium cans collected by the residents.


A
35 500

B
35 800


C
38 700
13.
In a recycling campaign, a society collected 28 314 glass bottles and     10 143 plastic bottles. What is the total number of bottles collected by the society ?

A
38 457
B
38 357
C
18 231
D
18 171
14.
In a quiz, the points scored by Razi, David, Chong and Suresh are 24 424, 22 444,   24 224 and 24 442 respectively. Who scored the highest points?

A
Razi 




B
Chong

C
Suresh 



D
David

15.
A factory produced 77 204 pairs of shoes. 26 770 of them were delivered to supermarkets and the rest were exported. How many pairs were exported?


A
103 974

B
93 174

C
51 534

D
50 434

D
38 900
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Section B
Answer all the questions given

	1.   Write 67 842 in words

(1 Mark)
	

	2.   Write ‘fifty-five thousand and six’ in numerals
(1 Mark)
	

	3.  

Using all the digits given above, form a number which place value of 3 is hundreds.
(1 Mark)
	

	4. Round off 94 223 to the nearest thousand
(1 Mark)
	

	5.   34 782 + 912 =
(2 Marks)
	

	6.   Find the sum of 23 541 and 3 563
(2 Marks)
	

	7.   7 538 – 75 – 34 =
(2 Marks)
	

	8.   Find the product of 3 036 and 14
(2 Marks)
	

	9.    Divide 66 003 by 100. What is the remainder?
(2 Marks)
	

	10.    10 000 - 4 123 + 856 =
(2 Marks)
	

	11.  After selling 64 937 eggs, Encik Yusof still has 5 023 eggs left. How  

       many eggs does he have at first?

(2 Marks)
	

	12.    A bakery makes 15 090 buns every month. How many buns can the

         bakery make in a year ?
(2 Marks)
	


END OF QUESTIONS
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